1. 49 HjS&E BF I2AQ

@ 46 @)52 3@ 102

@248

®)612

42 YH3Z o roldojR= +5
D46+4=11---2

@52+4=13

®102+4=25---2

@ 248 + 4 = 62

®612+4 =153

ZH
=

ohguct.




® (27, 21)

@ (18, 24)

@ (15, 15)

® (54, 30)

‘ D1520603D123® 6

@ (36, 48)




A e T AQ5E bt 2ol F4A 0.2 LrehRgly .
Al O

=
o ogre 7

0] AL FHSE T 4

A=2X2X3X7T B=2X3X7X7

@® 2x3

@ 2x3x7
@2><3x7x2><7
@ 2x3xXTX2x3%X7

® 2Xx2X2Xx3X3XTXTXT

Aoﬂl‘i g = _]?“'F: X2
BollA = F& 1 x7
HAFT 2x3XxTX2XT




g3y whol= 68710 £ 3t
A E%EY 4749] 312
a

Bo] g&Unt @
| dorgyc fE zO]
240,
O 8%

@ 16& @24%

@ 32=

= 6494 0]:/\1_

, 2, 4, 8,16, 32, 64 °|B=
8, 16, 32, 64 7H/V\1 z% 1?_]_-% /\L]E]-




D1,2,3,4,6, 12547
@1,23,6,9,18 - 3 7
®1,2,4,7,14,28 > 4 7}
@1,2,3,6,7,14, 21,42 - 4 7]
®1,2,4,7,8,14,28 56 > 6 7




24 45 U3t AW 63 472 D 4 Qe o2 e s 9l
o] E7o] Lhiro] Sl gtk Lol & 30| £2 @, A9
42 0% @ 1, 0-09 e THHAL.

459} 63 9] H-goF4-E Fotd Fuyot.
3) 45 63

3) 15 21

5 7

459} 63 9] -5 3x 3 =9YYth
J8BR SPsE 9g gyt

A =@ 45+ 9="5(H)

AW = ©: 63+9=T7(AF)

42t ©-@=7-5=2 YdYrtt




7.

62 LJiro] & 3 o] BESHT, 1002 Lol & 3 7} BEG 4 o]
A 20090 7V 717k 22 LA Q.

>

> =g 207

6 T 10 o] Fulia Foll A 200 of 7172 5 2ot 3 & Wit}
30x6-3=177,30x7—3 =207 |22 2009
7P 7Pk 4 207 YU,




°|7b 6km ¢ B2 ¢HEo] FRS oI Yt 12m wit

15m Ot} Y2 Ay Zu|o} HZo] BE Alo] Aok sl
XJU]-‘E} Hx Al —?%z}g— deo#il gy F3ohes 3
Aojok FU7t? (T, =2 O| FEoe FFoE AsUL)

l
o

=
T

M o N
e mlm N

3)12 15
4 5
FAFHRS 1 3x4x5 =60
webA BZ3H= 60m itk Ao Ay ch
L 29] Zo]7} 6km = 6000m ©| P&
6000 + 60 = 100 — FEo] BLF FFslo|n
101 255 AlojoF gttt




